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Série : F6
Epreuve du 1° groupe
ANSWER KEY
ANSWER KEY
REFERENCING (1.5 marks : 0.5/item)

“using hydrogen to fuel a vehicle”
“Producing hydrogen from water which is used to fuel a car / water for gas”
“using water instead of the conventional fuel”

VOCABULARY IN CONTEXT (1.5 marks : 0.5/item)

a

a

C

TRUE / FALSE (3 marks: 0.25 for T/F ; 0.5 for justification)

FALSE: “There are lots of auto mechanics out there but only a few have comprehensive knowledge and
know-how about water for gas and converting your car to shift energy consumption.”

FALSE: “You would surely encounter a lot of discouragements since using water instead of the
conventional fuel would make a drastic effect on big petroleum companies. That is why they would not
tell you this is an effective option let alone tell you it is possible at all.”

TRUE: “Take note that not all vehicles or cars are amenable to consuming water-fuels or using water as

fuel alternative.”

TRUE:” you are also making a great contribution to the environment. Water as an alternative to fossil
fuel is very safe for nature. You not only minimize your expenses, but you also reduced air pollution a
great deal!”
INFORMATION TRANSFER (3 marks : 0.5/item)
Hydrogen
Water
Not all vehicles are amenable to consuming water fuels.
A few mechanics have a comprehensive knowledge about water for gas. / Discouragement from big
petroleum companies; etc.
Best effective and money-saving alternative
A great contribution to the environment
REFORMULATION (1 mark : 0.5/item)
Water is not actually being used as a fuel alternative.
They did not need to buy expensive equipment for the laboratory.
LINK WORDS (3 marks : 0.75/item)
provided he got ...
as the time allowed ...
although it is possible to make it...
... unless there are promises to ...
ENSES (3 marks : 0.5/item)
Came up
Were contacted
Had been made
Had proved
Have changed
Will be found

WRITING: (4 marks



